Year 5 Homework, Autumn Term Week 10 3

-

1)
2)
3)
4)
5)

6)

V

993.22 + 288.98 =

3928 - 2129 = 2) 8322.22-523.99 =

77 x9 = 3) 83x77=

48 + 6 = 4) 431 + 6 =

What is 10% of 7837 (divide 5) What is 30% of 760? (find
by 10) 10% first)

What is 0.23 x 100?

Maths: Speedy Six \

y Y

1) 49382.221 + 932.01 =

6) What is 0.2 as a fraction?

\_

Keep practising your times tables. /

Theme Homework — Due 6" December
Finish your Egyptian project. See the extra sheet for more detailed instructions.

/ Spellings \

Green Purple
excitedly hardness
smoothly happiness
quickly gran
speedily must
enjoyably best
hungrily fast
every last
everyone because
determined this
correspond there

\_

Optional SPAG question (1 housepoint if completed)

/

Draw lines to match each sentence with its correct type.

The first one has been done for you.

How terrible! Question
Don’t drop the eggs. Exclamation
['ve broken an egq. Command

How will I get another
Statement

_for our breakjast?

Homework is due in on 6" December.
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